


Project : Analyzing and correcting 1 pre-made indicator as I described

Firstly, take a look at below 1st image, please.
[image: C:\Users\David Oh\Desktop\00\Wrong Sell Entry_EURUSSD_M15_2010210830 01.png]
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As you can see, there is “Sell Entry” arrow at 2010210830.
But this signal of Sell Entry is not right by the conditions of Sell Entry in the code.
In above image, it shows just Sell Entry signal without 3 higher time frames – H1, H4 and D1.














Take a look at below 2nd image, please.
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This is 1st higher time frame – H1
For Sell Entry, below condition show be satisfied.
1. OIH_Cluster_v1.0[H1]   v2 < v3 on current candle in H1 time frame
&&
2. OIH_Cluster_v1.0[H1]   v1 == v3 on current candle in H1 time frame

But, it shows “v2 > v3 && v1 == v3 on current candle in H1 time frame”
This situation is for Buy Entry, not Sell Entry.














Take a look at below 3rd image, please.
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Wrong Sell Entry_EURUSSD_M15_2010210830 03

This is 2nd higher time frame – H4
For Sell Entry, below condition show be satisfied.
1. OIH_Cluster_v1.0[H4]   v2 < v3 on current candle in H4 time frame
&&
2. OIH_Cluster_v1.0[H4]   v1 == v3 on current candle in H4 time frame

But, it shows “v2 > v3 && v1 == v3 on current candle in H4 time frame”
This situation is for Buy Entry, not Sell Entry.













Take a look at below 4th image, please.
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This is 3rd higher time frame – D1
For Sell Entry, below condition show be satisfied.
1. OIH_Cluster_v1.0[D1]   v2 < v3 on current candle in D1 time frame
&&
2. OIH_Cluster_v1.0[D1]   v1 == v3 on current candle in D1 time frame

But, it shows “v2 > v3 && v1 == v3 on current candle in D1 time frame”
This situation is for Buy Entry, not Sell Entry.



With all 3 images, we can know that conditions in the code are not working as I expected.
I don’t know why this wrong performance is happening.
So, I hope you to check and fix it in a right way.



File name of a new indicator will be “OIH_Ocean_CLS_v1.0”.





Requirement(s)
∙ It should work properly as I described.
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